A £ 0l & AHSH & Ml A

oM E2h
ot zel
ol Sl EER-E)
SA - B B(30) - HSAIY - BAS Ol &kt e HImE2
Z 0t 3,925,780 4,384,1%6 A458,416
= 7,231
T 254,337
Al 3,604,212
el 934,527 1,746,251 AB11,724
= 105,028
Al 829,499
ST 171,000 50,000 121,000
ofdEs ¥ SXZel 11,000 6,000 5,000
201 et A 1,000 1,000 0
01 AtR2tel] 1,000 1,000 0
OLotd2e|?da A=Y
100,000& *5H %23 1,000
401 Al BHIL20HY| 10,000 5,000 5,000
01 Al&HI 10,000 5,000 5,000
OZBFMe =2 L 2HEI} =2
10,000,000 10,000
oA E s L K2 100,000 44,000 56,000
401 AIEHIZL 2018 100,000 44,000 56,000
01 Al&HI 100,000 44,000 56,000
Obi=&H FLetEEH
56,000,000&*12] 56,000
OotE M It EH
22,000,000 *23| 44,000
AE It £H 60,000 0 60,000
401 AlEHIZ20HY| 60,000 0 60,000
01 AlEHI 60,000 0 60,000
O&lA 2=Z2F ZEAYE J12 2 AAIEH
g9 60,000,000& 60,000
2ot EH| 561,143 561,143 0
A0HEES & RAI22 561,143 561,143 0
201 LBr249h| 1,143 1,143 0
02 3324l 1,143 1,143 0
O EZ (6, A0t , 8R+H) DXAM S|
S EE5R= 1,902 +5002 980
OBEZ(5IA, 2618, 3940H) LA S|
S UERS 1,630 1003 163
401 AIEHIZ 201 560,000 560,000
01 Al&HI 500,000 500,000
OAdtd B 2 X2 (310H4)
200,000,000& 200,000
O3 |Xl&2| 300,000,000& 300,000
03 Al S CHYI 60,000 60,000 0




SN HEERI
g ot 2tel
ot AotdEyl (ctel:=el)
SA - BB SRI(B) - MRAR - BAS Of v e HIDEY
OAotd=L3Hl S gtz
60,000,000 60,000
ol NIE A 202,384 1,135,108 NI32,724
& 106,028
Al 97,3%
otd - Jl= XZol 24 194,712 127,888 66,824
s 97,356
Al 97,356
101 @124H| 150,504 98,888 51,616
= 75,252
Al 75,252
M IIINZZ2XNSE S 150,504 98,888 51,616
Odta - A= X0l 2% 2AHI(6F) 150,504
-Jl2s 91,8802 x62 *167 92,064
= 46,032
Al 46,032
=5d 91,8806 »36& 19,29
= 9,647
Al 9,648
-Fasdsg 91,880 +6Z * 10 5,513
== 2,757
Al 2,75
RPRS=E P S 91,8806 H x4 2,206
[ 1,103
Al 1,103
-EESIHI 500,000 6 3,000
& 1,500
Al 1,500
-AUEEs S JIE2E|
28,425,520& 28,426
= 14,213
Al 14,213
201 =23 44,208 29,000 15,208
= 22,104
Al 22,104
01 At 228l 37,008 24,000 13,008
Ottd - HBXZ0l ek elEHI(3M)
32,400,000& 32,400
& 16,200
Al 16,200
Octd - AXXZ0l 222 A S JIE=
&l 4.,608,000& 4,608
& 2,304
Al 2,304




SN HEERI
g ot 2te|
Pl oMY EBIAN (St )
SA - BB SRI(B) - MRAR - BAS Of v e HIDEY
2 3522l 7,200 5,000 2,200
Odta - A=2XZ0l 1 FFHI(3MH)
7,200,000 7,200
== 3,600
Al 3,600
ZletZold HuZAIE 29 7,672 7,220 452
= 7,672
301 LEtE NS 7,672 7,220 452
= 7,672
14 IIEt28=s 7,672 7,220 452
Ozlgdsotd JoZAIY 29 ==(2d/8E)
7,672,000& 7,672
= 7,672
Mol & Mt=7s2d3t 2,507,256 2,191,239 316,017
= 7,231
& 149,309
Al 2,350,716
e UM A= 2,086,696 1,780,364 306,332
= 2,567
S 122,200
Al 1,961,929
SlEgEny =Y 1,015,800 891,920 123,880
201 B2 951,800 811,920 139,880
01 Ar2telsl 415,400 235,520 179,880
OUSEIY HAILHY S|
8,000&x30& x 102 2,400
OUSBOR ®MIoHd U ALl O3 8
a 369,000,000 369,000
O&I| M At 2 (FI])
22,000,0002 22,000
OYSHIN 2012 8
22,000,000 22,000
2 5238l 536,400 576,400 40,000
O3S A1) 5,000,000& 5,000
OWl=J1= X2l 200,000 +5CH 1,000
OX=BZHY & SHEMBAIE M=
300,000,000& 300,000
OdlsEZd L oldMIAE StR=
3,200,000& «12& 38,400
OotEAIE JIHIEHl |22 ES
2,500,000 ~82 20,000
O Al 2 (POOL) 22l 150,000,000 150,000
Odls8Zd HSHAHAAYE K22 SS
2,750,000 ~8& 22,000
206 M= Hl 20,000 20,000 0




SN EERI
I ol & Mt=7525Y3t
cHel 2gst AT S EEREED
- B2 eRi(3) - HRA - S Of v e HIDEY
01 M= HI 20,000 20,000 0
Oulsgnd gll&el A2F 7
20,000,000 20,000
401 AIEHIZL R0 44,000 60,000 16,000
01 Al&HI 44,000 60,000 16,000
OUSBHIE OFAHE(FI|) B
22,000,000 »23] 44,000
DX+ |2 140,000 0 140,000
01 Al I 20| 140,000 140,000
01 Al&H| 140,000 140,000
ODXIbN4E OHEEAR(12HA)
80,000,000 80,000
O =2 RXl2c/H 60,000,000& 60,000
MEHUBEAE FA2+ 130,000 120,000 10,000
201 Er=23E| 130,000 120,000 10,000
02 s3=4Hl 130,000 120,000 10,000
OMHUEEANE S8 =2+
130,000,000 130,000
MHHUZEAL &5 27,200 0 27,200
401 Al HIZ S 0HYI 20,000 20,000
01 Al=8| 20,000 20,000
ORISR ASI| AN & S wH
20,000,000& 20,000
405 AbaHE SH| 7,200 7,200
01 T =S FSH 7,200 7,200
Ot SAIY SUI[(PSLTE) +&
1,200,000 ~6LH 7,200
B EAIE &#S(<HI) 80,000 80,000 0
& 40,000
Al 40,000
401 AlEHIZ SO 80,000 80,000 0
L= 40,000
Al 40,000
01 Al&H| 80,000 80,000 0
OMHUFEAIL SF(MHZAISICTV £X)
20,000,000 x4 2~ 80,000
= 40,000
Al 40,000
Hoordaas 29 180,872 162,640 N1,768
201 24| 130,372 130,040 332
01 AtR2telBl 77,672 78,440 AT68
OMUE 22X sS4
10,000,000 10,000




SN QST
I ol & Mt=7525Y3t
cHel 2gst AT S (Gt M)
SA - BB SRI(B) - MRAR - BAS Of v e HIDEY
OMOHNEa 28 IR S 7
2,000,000 2,000
OMLtoHE AL Z Al 22T} RI4gt
60,0002 %22 x4902! 58,800
OTLHOIE AR Gxa H78 S Mg
80,0008 535 4,240
OO ASA YXM 22 2|
1,000,000& 1,000
O3JIEEI| X2
34,0003 x40 122 1,632
02 5228l 52,700 51,600 1,100
OMterdatatal S X2t
10,000,000 10,000
OTHHOIZEAIE MI123(38H2)
3,700,000 3,700
OB EAIE SERS(3BHA)
35,000,000& 35,000
O3 EXt=R2eldl(10h) 4,000,000& 4,000
203 R =& 19,000 19,000
03 A=A 2= 19,000 19,000
OUAMTAIR I =dRSEFI AIRFAY
L= 14,000,000& 14,000
OQFEZ Y ABETAREAY]
5,000,000 5,000
301 EtE2 N s 1,500 1,500
11 dALEBIXNE S 1,500 1,500
OoM-tE s 238 Hal
1,500,000& 1,500
tate| =8 162,360 89,500 62,860
201 23| 22,360 47,500 A25,140
01 Ar2teldl 21,400 47,500 A26,100
OMoil SetE I QRS HAt=E
100,0003 x5 %152 7,500
Ooerd 2|22l slo+=&
100,000 *x9EH +53] 4,500
ONMHHEEAE =SR2l KetElt /&3
SAt=E 200,000 *7H =13 1,400
Ot e 2 MA 70,0002 x50 3,500
OoctdeI=E 28+E
100,000 *15& *32] 4,500
02 =324l 960 0 960
O HHEH ALY 28 S4E3
80,0002+ 123 960
401 AlIEHIZ 201 130,000 42,000 88,000
01 Al&HI 130,000 42,000 88,000
ONBBAE= dEHZAL B9
130,000,000 130,000




SA S
B Thol 2 Wor=psEs
Chel: st TLHol A H RS (EHol: 1)
SA - BB SRI(B) - MRAR - BAS Of v e HIDEY
A EESAE HEEE & A+ B9 182,380 280,000 N97,620
401 AlEHIZ 20| 182,380 280,000 A97,620
01 Al&ZHI 182,380 280,000 N97,620
OAHEESSAE N EH & HIHE+E
= 182,380,000& 182,380
Jl=g? S¥EEEH N (HHUE ads=Ed) 5,14 5,7%4 2620
= 2,567
Al 2,567
201 Zer2d| 5,134 5,754 2620
= 2,567
Al 2,567
03 A= I 5,134 5,754 2620
OMHUS tdst=&d 5,134,000& 5,134
= 2,567
Al 2,567
tu=ReleEs EREES 9,800 9,800 0
= 4,900
Al 4,900
201 Ler2d| 9,800 9,800 0
= 4,900
Al 4,900
01 Ar2telsl 9,800 9,800 0
Ot =23t2s s2gs(Hugs2SH
& 3S) 9,800,000& 9,800
= 4,900
Al 4,900
otaEora 2= XA 2,550 0 2,550
301 2N 2,550 0 2,550
14 IJIEt2d=S 2,550 0 2,550
oottt 23 X (XEN)
32,0002 507K 1,600
Oordgotat 23 X (2X)
19,0002 *50H 950
N8 HHWS 20,000 20,000 0
S 10,000
Al 10,000
201 &Er=3| 20,000 16,000 4,000
[ 10,000
Al 10,000
01 AlR2teltl 10,000 10,000 0
OdO=z=218 ARE NS
10,000,000& 10,000
& 5,000
Al 5,000




SN EERI
I Mol & Mt=7525Y3t
CHRl: SHEEE THLIOIR R RS (crol: &2l
SA - BB SRI(B) - MRAR - BAS Of v e HIDEY
03 A2 SHI 10,000 6,000 4,000
QH=I1E AT NS
10,000,000 10,000
== 5,000
Al 5,000
AN E S 72,000 72,000
307 glzZtold 72,000 72,000
06 2e= 72,000 72,000
OAlZItE 25 72,000,000& 72,000
INE:DAS =10 e e I A 30,000 30,000 0
S 15,000
Al 15,000
301 EtE2 N s 26,000 26,000 0
= 13,000
Al 13,000
14 JIEet2d=s 26,000 26,000 0
Ous € =8| 1,000,000& 1,000
= 500
Al 500
Og M= S48l 3,000,000 3,000
= 1,500
Al 1,500
odNgs =&l 1,000,000& 1,000
= 500
Al 500
OXNEL M A N2AL
21,000,000& 21,000
S 10,500
Al 10,500
307 glztol 4,000 4,000 0
L= 2,000
Al 2,000
02 2B SAIHE XL 4,000 4,000 0
OXNSUHEL M AIS X
4,000,000 4,000
= 2,000
Al 2,000
Srol28 At 32,600 40,750 N8,150
= 16,300
Al 16,300
307 2lztol 32,600 40,750 28,150
= 16,300
Al 16,300




SA S
B Thol 2 Wor=psEs
cHel 2gst AT S EEREED
SA - BB SRI(B) - MRAR - BAS Of v e HIDEY
06 2= 32,600 40,750 N8,150
OS==oi=2E M 32,600,000 32,600
= 16,300
Al 16,300
ZEMZAE £X 36,000 50,000 14,000
[ 36,000
401 Al HIZ S OHYI 36,000 50,000 14,000
= 36,000
01 Al&ZHI 36,000 50,000 14,000
OZEM2AIE Ex(A0tE OsY)
9,000,000 ~4JHK 36,000
& 36,000
et & THoll=+ XI& 20,000 20,000 0
et & THah=+ X2 20,000 20,000 0
302 Ol=H Mol 2= 20,000 20,000 0
02 2ol S FESEa=S 20,000 20,000 0
ORIRIQITH 2 &= 20,000,000 20,000
Mol QiR E 50,004 25,125 24,879
4g QlgtelRE 50,004 25,125 24,879
201 2Er=23H| 17,654 24,625 26,971
01 AtR2t2l8l 12,380 12,380 0
Oglgtel S S IISHI(M7 SHES ¢
gel=,22) 207,000 40 8,280
Oug AIM=A 222 & wMAHH
25,0002 +80% 2,000
OIg210] 2l 7,00024 300K 2,100
2 =228l 5,274 12,245 A\6,971
Ooulgel WsESIA SR 2=
1,903 2,150 4,214
Oulgel WsSIA SII28 BHER=
1,630 *650H 1,060
301 22N 32,350 500 31,850
11 HALAEIXIE S 32,350 500 31,850
oglztel S u=F 04| 500,000 500
OXSHAUE HAIX At
245,0002 130 31,850
UHagle A usea 43,348 31,955 11,393
= 4,664
=S 7,609
Al 31,075
P NE2IHI(OIEXNAN S d2us ) 1,261 1,300 A39
= 378
= 265
Al 618
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2N

I Mol & Mt=7525Y3t
Ci9l: olurel AlSE| 22 (cie) 2191
SA - BB SRI(B) - MRAR - BAS Of v e HIDEY
Oolgte! tHulAlg sXl2tel
5,000,000 5,000
Onge Hadas-AE SN2+
i2,000,0002! 12,000
ORISRl HIAZHAS 2EA
3,500,000 x20H 2= 7,000
Og? HIAIZ(AREZ) MIIes
300,000&* 122 3,600
LE QIgZZAIL(SY) L 65,000 65,000 0
[ 19,500
Al 45,500
401 Al HIZ S THYI 65,000 65,000 0
T 19,500
Al 45,500
01 Al&HI 65,000 65,000 0
Ok QUAZ DAL () WH(1IH4)
65,000,000 65,000
[ 19,500
Al 45,500
HI&CHBIER Al =+ 32,040 28,740 3,300
SXNEH=HS52 Was =8 28,200 24,200 4,000
201 24| 26,000 22,000 4,000
01 At22t2l8l 26,000 22,000 4,000
SXds Hladsa it sS4l
14,000,000 14,000
(OEPNRuI=go\ =] 2,000,000& 2,000
OSNHsd 3y 2 MAYE Xz
10,000,000 10,000
202 OdH| 200 200
01 =LHOHI 200 200
O & Z=0 A 048l
40,0002 ~5H 200
301 22N 2,000 2,000
11 HALAEIXIE S 2,000 2,000
OaN&ES &I 24H40H)
2,000,000& 2,000
SIS HIattl s =& 3,840 3,840
201 &Er=3H| 2,400 2,400
01 At2telHl 2,400 2,400
O gss tlaiblns wssl
60,0002 x40 2,400
202 0| 1,440 1,440
06 ST Ws0H| 1,440 1,440
O das bt s ol
36,0002 *40H 1,440




SN EERI
I Mol & Mt=7525Y3t
Chel: AlBIERed =22 (B9l @el)
SA - BB SRI(B) - MRAR - BAS Of v e HIDEY
ANRIZERRE SR 145,968 113,455 32,513
ANRISR2E 2l 145,968 113,455 32,513
301 LE2N S 145,968 113,455 32,513
10 MEI=SRRELBH=S 145,968 113,455 32,513
Oss 940,0002 x10F* 122 112,800
OSAH| 7,0002 x10Z *260 18,200
OuEH| 3,000 x10E 260 7,800
OLul=H| 309,600 +7H 2,168
OAISReE 374 28 & Rzl
5,000,000 5,000
dF2IIH(LHSD 31,900 31,900 0
Jl23tl(erdESZ ) 31,900 31,900 0
Jl2ZHI(etES2 ) 31,900 31,900 0
201 &Er=3H| 20,000 20,000 0
01 At22t2lHl 20,000 20,000 0
ORM2EAIR 22l 20,000,000 20,000
202 O] 5,000 5,000 0
01 S0 5,000 5,000 0
OJl=g8 =30t (2098) 5,000,000 5,000
203 ER =& 6,900 6,900
01 2= P R=AHI 3,300 3,300
OJ|2=2geR=a| 3,300,000 3,300
M EAEHERFAH 3,600 3,600 0
ORAN2ILR=EH|(202/013t)
300,000 * 122 3,600
HRes(etdES2mn) 452,097 414,806 37,291
WEHARE (XX SZ ) 452,097 414,806 37,291
MHet2eDls &S 452,097 414,806 37,291
JlsdEs 452,097 414,806 37,291
UIPIETSE=E 452,097 414,806 37,291
Oltt2tels 8&3 452,097,000& 452,097




